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PROBLEM:
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0 otherwise - Otw(z)asafunctionof <.

(@ Assumethat w(t) = ut +2) —ut — 2) = {
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(b) Plot y(t) = w(t) * w(t). Carefully label the amplitude and the time axis.
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(¢) When the input to an LTI system is X(t), the output is the signal y(t) = x(t) = h(t) plotted below.
What is the impulse response h(t) of the system?
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(a) Assume that w(t) = u(t+2) —u(t—2) = { 0  otherwise Plot w(7) as a function of 7.
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(b) Plot y(t) = w(t) * w(t). Carefully label the amplitude and the time axis.
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(c) When the input to an LTI system is z(t), the output is the signal y(¢) = z(t) * h(t) plotted
below. What is the impulse response h(t) of the system?
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